(M10 Ch 3 Gifted and Enrichment Answers continued)
.…BLM 1–16.…

(continued)


Chapter 3 Gifted and Enrichment Answers

1. Let h represent the height of the kite, in metres.
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The kite is approximately 55.6 m above the ground.
2.
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XW is approximately 3.6 cm long.
3. a)
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The submarine’s angle of ascent is approximately 
8°.

b) Let d represent the distance travelled by the submarine, in metres.
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The submarine will travel approximately 4377 m
horizontally.

c)
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During its ascent, the submarine travels at a
horizontal speed of approximately 2.1 m/s.

4. a) (C = (D = 70°; (ABC = (EBD = 90°; (A = (E 
= 20°. AC corresponds to ED, BC corresponds to
BD, and AB corresponds to EB. The triangles are 
similar.

b)
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The base of the tower is approximately 115 m tall.
c)
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Guy wire AC is approximately 123 m long.
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Guy wire ED is approximately 74 m long.

5. When the conveyor is at its lowest angle of elevation, in ∆ABC, AC = 9 m, (A = 5°.
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The lowest point of the opening is approximately 
0.8 m above ground.

When the conveyor is at its highest angle of 
elevation, in ∆DEB, DE = 9 m, (D = 20°.
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The highest point of the opening is approximately 
3.1 m above ground.

Length of opening = highest point – lowest point
= 3.1 – 0.8

= 2.3

The length of the opening is approximately 2.3 m.
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